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FET FET FET FET FET FET
R-ZZ=46—-H—H 446,259 34,565 13,865 (3,598) (94,228) 396,863
BB — — — 870 — 870
EEFERRARERZER — — — 870 — 870
AHE A — — — — 8,125 8,125
BAFEGEEES — — 145 — (145) —
BAZBER — (460) — — 460 —
U B B B 1 ) 7 B AT T AR 47,722 — — — — 47,722
R-2Z=£XA=+8 493,981 34,105* 14,010* (2,728)* (85,788)" 453,580
R-ZT-%#—-H—H 446,259 35,487 5,224 (1,994) (101,925) 383,051
BB — — — 33 — 33
EEFERRARERZER — — — 33 — 33
AHE A — — — — 3,207 3,207
BAZEBE — 461) — — 461 —
RZZZE-4XA=1+H 446,259 35,026 5,224 (1,961) (98,257) 386,291
TS REZHE
NGBS PN 493,981 34,105 14,010 (3,104) (86,300) 452,692
SN — — — 376 (52) 324
HRAZHDE — — — — 564 564
R-BE=5£xA=1+H 493,981 34,105 14,010 (2,728) (85,788) 453,580
ARARKBED 446,259 35,026 5,224 (2.336) (98,415) 385,758
BARA — — — 375 159 534
HREHRE — — — — m m
RZZZT-4XA=1+H 446,259 35,026 5,224 (1,961) (98,257) 386,291
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